Publ. Math. Debrecen **75/3-4** (2009), 447–458

Generalizations of Mitrinović, Adamović and Lazarević's inequalities and their applications

By SHANHE WU (Longyan) and ÁRPÁD BARICZ (Cluj-Napoca)

Abstract. In this paper, by introducing a parameter, we give new generalizations of Mitrinović–Adamović's inequality and Lazarević's inequality, and we apply these results to present new refinements of Cusa–Huygens' inequality and Wilker's inequality. These results improve many known results in the literature.

1. Introduction

MITRINOVIĆ and ADAMOVIĆ [11] proved that the inequality

$$\cos x < \left(\frac{\sin x}{x}\right)^3 \tag{1}$$

holds for all $x \in (0, \pi/2)$, and showed that the exponent 3 is the largest possible. A hyperbolic analogue of inequality (1) was presented by Lazarević, which is stated as follows:

$$\cosh x < \left(\frac{\sinh x}{x}\right)^3,\tag{2}$$

where $x \neq 0$, and the exponent 3 is the least possible (see [8, p. 131]).

Inequalities (1) and (2) were recorded by MITRINOVIĆ and VASIĆ in their famous monograph [12], and from then they have evoked the interest of many mathematicians. Surveys on various generalizations and developments of these inequalities can be found in the monograph of KUANG [10]. Recently, several new

Mathematics Subject Classification: 26D05, 26D07, 33B10.

Key words and phrases: Mitrinović–Adamović's inequality, Lazarević's inequality, Bernoulli's inequality, generalization, refinement, best parameter value.

proofs, variations, extensions and applications of this pair of inequalities have been discussed in the literature. The interested reader is referred to the papers [1], [3], [5], [6], [15], [19], [20], [21], [23] and to the references therein.

In this paper, we shall generalize the inequalities (1) and (2) by introducing a parameter. It is important to note that the results presented here contain the refinements of Mitrinović–Adamović's inequality and Lazarević's inequality as special cases. In Section 4 of this paper, we show that our results can be applied to the refinements of the Cusa–Huygens's inequality and the Wilker's inequality.

2. Main results

Our main results are the following theorems.

Theorem 1. If $x \in (0, \pi/2)$, then the inequality

$$1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x < \left(\frac{\sin x}{x}\right)^{\lambda} \tag{3}$$

holds if and only if $\lambda < 0$ or $\lambda \geq \lambda_0$, where $\lambda_0 \simeq 1.420330769$ is the root of the equation $\lambda/3 + (2/\pi)^{\lambda} - 1 = 0$. Moreover, the inequality (3) is reversed if and only if $0 < \lambda \leq 7/5$.

Theorem 2. If $x \neq 0$, then the inequality

$$1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x < \left(\frac{\sinh x}{x}\right)^{\lambda} \tag{4}$$

holds if and only if $\lambda < 0$ or $\lambda \ge 7/5$. Moreover, the inequality (4) is reversed if and only if $0 < \lambda \le 1$.

3. Proof of the main results

PROOF OF THEOREM 1. Define a function $f: (0, \pi/2) \to \mathbb{R}$ by

$$f(x) = \ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right) - \ln\left(\frac{\sin x}{x}\right)^{\lambda},$$

where λ is a parameter and $\lambda < 3$. Differentiating f(x) with respect to x gives

$$f'(x) = \frac{-\lambda \sin x}{3 - \lambda + \lambda \cos x} - \frac{\lambda \cos x}{\sin x} + \frac{\lambda}{x}$$
$$= \frac{\lambda \left(-x \sin^2 x + (\lambda - 3)(x \cos x - \sin x) - \lambda x \cos^2 x + \lambda \sin x \cos x\right)}{(3 - \lambda + \lambda \cos x)x \sin x}$$
$$\triangleq \frac{\lambda g_1(x)}{(3 - \lambda + \lambda \cos x)x \sin x}.$$

Computing the derivative of $g_1(x)$ gives

$$g_1'(x) = (\sin x)(-2x\cos x - \sin x + 3x - \lambda x + 2\lambda x\cos x - \lambda\sin x)$$
$$\triangleq (\sin x)g_2(x).$$

Similarly, we have

$$g_2'(x) = 2x \sin x - 3 \cos x + 3 - \lambda - 2\lambda x \sin x + \lambda \cos x$$
$$= (\sin x) \left((3 - \lambda) \tan \frac{x}{2} + (2 - 2\lambda)x \right) \triangleq (\sin x)g_3(x),$$
$$g_3'(x) = \frac{3 - \lambda}{2} \left(\sec^2 \frac{x}{2} - \frac{4\lambda - 4}{3 - \lambda} \right).$$

To prove the required results, we consider the following four cases.

Case I. If $0 < \lambda \leq 7/5$, then clearly $(4\lambda - 4)/(3 - \lambda) \leq 1$. We have

$$g'_3(x) = \frac{3-\lambda}{2} \left(\sec^2 \frac{x}{2} - \frac{4\lambda - 4}{3-\lambda} \right) > 0$$

for all $x \in (0, \pi/2)$. On the other hand $g_3(0) = 0$, and thus we conclude that the function g_3 is increasing and positive on $(0, \pi/2)$. Similarly, by using the functional relationships stated above, we deduce that the functions g_2 and g_1 are also increasing and positive on $(0, \pi/2)$. Hence, we have f'(x) > 0 for all $x \in (0, \pi/2)$, we thus infer that f is increasing on $(0, \pi/2)$.

Now, from

$$\lim_{x \to 0^+} f(x) = 0,$$

we deduce that

$$f(x) = \ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right) - \ln\left(\frac{\sin x}{x}\right)^{\lambda} > 0$$

for all $x \in (0, \pi/2)$, which leads to the reverse inequality of (3).

Case II. When $\lambda < 0$. It is easy to see that in this case we also have that $g'_3(x) > 0$ for all $x \in (0, \pi/2)$. In the same way as in previous case, we can deduce that the functions g_3, g_2, g_1 are increasing and positive on $(0, \pi/2)$. Note that $\lambda < 0$, we thus have f'(x) < 0 for all $x \in (0, \pi/2)$, which implies that f is decreasing on $(0, \pi/2)$. Consequently, we have $f(x) < f(0^+) = 0$ for all $x \in (0, \pi/2)$, i.e.

$$\ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right) - \ln\left(\frac{\sin x}{x}\right)^{\lambda} < 0,$$

which evidently implies the desired inequality (3).

Case III. When $\lambda \geq \lambda_0 \simeq 1.420330769$.

We first consider the case of $\lambda = \lambda_0$. Since the function

$$x \mapsto g_3'(x) = \frac{3 - \lambda_0}{2} \left(\sec^2 \frac{x}{2} - \frac{4\lambda_0 - 4}{3 - \lambda_0} \right)$$

is increasing on $(0, \pi/2)$, and $g'_3(0) < 0$, $g'_3(\pi/2-) = +\infty$, we conclude that there exists $x_1 \in (0, \pi/2)$ such that $g'_3(x) < 0$ for all $x \in (0, x_1)$, $g'_3(x_1) = 0$ and $g'_3(x) > 0$ for all $x \in (x_1, \pi/2)$. Thus, the function g_3 is decreasing from $g_3(0) = 0$ to $g_3(x_1) < 0$ and then increasing to $g_3(\pi/2) > 0$. Hence, there is $x_2 \in (x_1, \pi/2)$ such that $g_3(x) < 0$ for all $x \in (0, x_2)$, $g_3(x_2) = 0$ and $g_3(x) > 0$ for all $x \in (x_2, \pi/2)$.

Now, from $g'_2(x) = (\sin x)g_3(x)$, we conclude that the function g_2 is decreasing from $g_2(0) = 0$ to $g_3(x_2) < 0$ and then increasing to $g_2(\pi/2) > 0$. Hence, there is $x_3 \in (x_2, \pi/2)$ such that $g_2(x) < 0$ for all $x \in (0, x_3)$, $g_2(x_3) = 0$ and $g_2(x) > 0$ for $x \in (x_3, \pi/2)$. Further, from $g'_1(x) = (\sin x)g_2(x)$, we deduce that the function g_1 is decreasing from $g_1(0) = 0$ to $g_1(x_3) < 0$ and then increasing to $g_1(\pi/2) > 0$. Hence, there is $x_4 \in (x_3, \pi/2)$ such that $g_1(x) < 0$ for all $x \in (0, x_4)$, $g_1(x_4) = 0$ and $g_1(x) > 0$ for all $x \in (x_4, \pi/2)$.

Finally, from the relation

$$f'(x) = \frac{\lambda_0 g_1(x)}{(3 - \lambda_0 + \lambda_0 \cos x) x \sin x},$$

we conclude that the function f is decreasing from $f(0^+) = 0$ to $f(x_4) < 0$ and then increasing to $f(\pi/2) = 0$. Therefore, for all $x \in (0, \pi/2)$ we have

$$f(x) = \ln\left(1 - \frac{\lambda_0}{3} + \frac{\lambda_0}{3}\cos x\right) - \ln\left(\frac{\sin x}{x}\right)^{\lambda_0} < 0,$$

that is,

$$1 - \frac{\lambda_0}{3} + \frac{\lambda_0}{3}\cos x < \left(\frac{\sin x}{x}\right)^{\lambda_0}.$$
(5)

Next, we prove the validity of inequality (3) for $\lambda > \lambda_0$. We shall use the well-known Bernoulli inequality [12, p. 34], which states that if $-1 < u \neq 0$ and $0 < \alpha < 1$, then

$$(1+u)^{\alpha} > 1 + \alpha u \quad \text{for } \alpha > 1 \text{ or } \alpha < 0; \tag{6}$$

$$(1+u)^{\alpha} < 1 + \alpha u \quad \text{for } 0 < \alpha < 1.$$

$$\tag{7}$$

It is easy to verify that $(\lambda_0/3) \cos x - \lambda_0/3 > -1$ and $\lambda/\lambda_0 > 1$. By using the Bernoulli inequality (6) and the inequality (5), we have

$$\left(\frac{\sin x}{x}\right)^{\lambda} = \left(\left(\frac{\sin x}{x}\right)^{\lambda_0}\right)^{\lambda/\lambda_0} > \left(1 + \left(\frac{\lambda_0}{3}\cos x - \frac{\lambda_0}{3}\right)\right)^{\lambda/\lambda_0}$$
$$\ge 1 + \frac{\lambda}{\lambda_0}\left(\frac{\lambda_0}{3}\cos x - \frac{\lambda_0}{3}\right) = 1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x.$$

This proves the desired inequality (3).

Case IV. When $7/5 < \lambda < \lambda_0 \simeq 1.420330769$. Via the same discussions as in the previous case, we can find that the function

$$f(x) = \ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right) - \ln\left(\frac{\sin x}{x}\right)^{\lambda}$$

is decreasing from $f(0^+) = 0$ to $f(\eta) < 0$ $(0 < \eta < \pi/2)$ and then increasing to $f(\pi/2) > 0$, where $f(\pi/2) = \ln(1-\lambda/3) - \lambda \ln(2/\pi) > \ln(1-\lambda_0/3) - \lambda_0 \ln(2/\pi) = 0$.

It means that the inequality (3) as well as its reverse version are not true in general under the assumption that $7/5 < \lambda < \lambda_0$. This proves the validity of the assertion that the constant λ_0 is the minimum positive value of λ for which the inequality (3) holds, and the constant 7/5 is the maximum value of λ for which the reverse inequality of (3) holds.

This completes the proof of Theorem 1.

PROOF OF THEOREM 2. Define a function $\phi: (0,\infty) \to \mathbb{R}$ by

$$\phi(x) = \ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x\right) - \ln\left(\frac{\sinh x}{x}\right)^{\lambda},$$

where λ is a parameter and $\lambda > 0$. Differentiating $\phi(x)$ with respect to x gives

$$\phi'(x) = \frac{\lambda \left(x \sinh^2 x + (\lambda - 3)(x \cosh x - \sinh x) - \lambda x \cosh^2 x + \lambda \sinh x \cosh x\right)}{(3 - \lambda + \lambda \cosh x)x \sinh x}$$
$$\triangleq \frac{\lambda \varphi_1(x)}{(3 - \lambda + \lambda \cosh x)x \sinh x}.$$

Further, we have

452

$$\varphi_1'(x) = (\sinh x)(2x \cosh x + \sinh x - 3x + \lambda x - 2\lambda x \cosh x + \lambda \sinh x)$$

$$\triangleq (\sinh x)\varphi_2(x),$$

$$\varphi_2'(x) = (\sinh x)\left((3-\lambda)\tanh\frac{x}{2} + (2-2\lambda)x\right)$$

$$\triangleq (\sinh x)\varphi_3(x),$$

$$\varphi_3'(x) = \frac{1}{2\cosh^2\frac{x}{2}}\left(3-\lambda - (4\lambda - 4)\cosh^2\frac{x}{2}\right).$$

Observe that for all $x \neq 0$ we have

$$1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh(-x) - \left[\frac{\sinh(-x)}{(-x)}\right]^{\lambda} = 1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x - \left(\frac{\sinh x}{x}\right)^{\lambda},$$

thus, in order to prove Theorem 2, it is enough to prove that the inequalities asserted by Theorem 2 hold for all x > 0.

As in the proof of Theorem 1 we consider four cases.

Case I. If $\lambda \ge 7/5$, then $(3 - \lambda)/(4\lambda - 4) \le 1$. In this case for all x > 0 we have

$$\varphi_3'(x) = \frac{2\lambda - 2}{\cosh^2 \frac{x}{2}} \left(\frac{3 - \lambda}{4\lambda - 4} - \cosh^2 \frac{x}{2} \right) < 0.$$

On the other hand $\varphi_3(0) = 0$, and thus we conclude that the function φ_3 is decreasing and negative on $(0, +\infty)$. Similarly, by using the functional relationships stated above, we deduce that the functions φ_2 and φ_1 are also decreasing and negative on $(0, +\infty)$. Hence, we infer that ϕ is decreasing on $(0, +\infty)$. Taking into account that $\phi(0^+) = 0$ we obtain that for all x > 0

$$\phi(x) = \ln\left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x\right) - \ln\left(\frac{\sinh x}{x}\right)^{\lambda} < 0,$$

which leads to the required inequality (4).

Case II. When $0 < \lambda \leq 1$. It is easy to see that for all x > 0

$$\varphi_3'(x) = \frac{1}{2\cosh^2 \frac{x}{2}} \left(3 - \lambda + (4 - 4\lambda) \cosh^2 \frac{x}{2} \right) > 0.$$

Consequently, as in the previous case we have that the functions $\varphi_1, \varphi_2, \varphi_3$ are increasing and positive on $(0, +\infty)$. We thus have $\phi'(x) > 0$ for all x > 0, which implies that ϕ is increasing on $(0, +\infty)$. Consequently, we have $\phi(x) > \phi(0^+) = 0$ for all $x \in (0, +\infty)$, which implies the reverse inequality of (4), that is,

$$1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x > \left(\frac{\sinh x}{x}\right)^{\lambda}.$$

Case III. When $\lambda < 0$. In this case $-\lambda > 0$, and by appealing to the result proved in the previous case, we obtain that for all x > 0

$$\left(\frac{\sinh x}{x}\right)^{-\lambda} < 1 - \frac{(-\lambda)}{3} + \frac{(-\lambda)}{3}\cosh x,$$

that is,

$$\left(\frac{\sinh x}{x}\right)^{\lambda} > \frac{1}{1 + \lambda/3 - (\lambda/3)\cosh x}$$

This in turn implies that

$$\left(\frac{\sinh x}{x}\right)^{\lambda} > \frac{1}{1 + \lambda/3 - (\lambda/3)\cosh x}$$
$$> \frac{1 - (\lambda/3 - (\lambda/3)\cosh x)^2}{1 + \lambda/3 - (\lambda/3)\cosh x} = 1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x,$$

which is exactly the required inequality (4).

Case IV. When $1 < \lambda < 7/5$. Note that the function

$$x \mapsto \varphi_3'(x) = \frac{3-\lambda}{2} \left(\frac{1}{\cosh^2 \frac{x}{2}} - \frac{4\lambda - 4}{3-\lambda} \right)$$

is decreasing on $(0, +\infty)$, and $\varphi'_3(0) > 0$, $\varphi'(+\infty) < 0$. Consequently, there exists $x_1 \in (0, +\infty)$ such that $\varphi'_3(x) > 0$ for all $x \in (0, x_1)$, $\varphi'_3(x_1) = 0$ and $\varphi'_3(x) < 0$ for all $x > x_1$. Thus, the function φ_3 is increasing from $\varphi_3(0) = 0$ to $\varphi_3(x_1) > 0$ and then decreasing to $\varphi_3(+\infty) = -\infty$.

Similarly, by investigating the monotonicity of functions φ_2 , φ_1 , ϕ , we deduce that there exist x_2, x_3, x_4 such that the function φ_2 is increasing from $\varphi_2(0) = 0$ to $\varphi_3(x_2) > 0$ and then decreasing to $\varphi_2(+\infty) = -\infty$; φ_1 is increasing from $\varphi_1(0) = 0$ to $\varphi_1(x_3) > 0$ and then decreasing to $\varphi_1(+\infty) = -\infty$; ϕ is increasing from $\phi(0) = 0$ to $\phi(x_4) > 0$ and then decreasing to $\phi(+\infty) = -\infty$. These in turn imply that the inequality (4) as well as its reverse are not true in general under the assumption that $1 < \lambda < 7/5$. This proves the validity of the assertion that the constant 7/5 is the minimum positive value of λ for which the inequality (4) holds, and the constant 1 is the maximum value of λ for which the reverse inequality of (4) holds.

4. Some applications

In this section, we show some applications of Theorems 1 and 2. By using Theorems 1 and 2, and the Bernoulli inequality (6), we get immediately the following refinements of Mitrinović–Adamović's inequality and Lazarević's inequality.

Corollary 1. Let $x \in (0, \pi/2)$ and $\lambda \in [\lambda_0, 3]$, where $\lambda_0 \simeq 1.420330769$ is the root of the equation $\lambda/3 + (2/\pi)^{\lambda} - 1 = 0$. Then the following inequality holds

$$\cos x \le \left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right)^{3/\lambda} < \left(\frac{\sin x}{x}\right)^3.$$

Corollary 2. Let $x \neq 0$ and $\lambda \in [7/5, 3]$. Then the following inequality holds

$$\cosh x \le \left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cosh x\right)^{3/\lambda} < \left(\frac{\sinh x}{x}\right)^3.$$

The inequality

$$\frac{\sin x}{x} < \frac{2 + \cos x}{3},\tag{8}$$

which holds for all $x \in (0, \pi/2)$, is known in the literature as Cusa–Huygens' inequality (see [17]). As a consequence of Theorem 1, by using the Bernoulli inequality (7), we obtain that the following refinement of Cusa–Huygens' inequality.

Corollary 3. If $x \in (0, \pi/2)$ and $\lambda \in [1, 7/5]$, then we have

$$\frac{\sin x}{x} < \left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right)^{1/\lambda} \le \frac{2 + \cos x}{3}.$$

In [14], QI et al. presented a reversed version of Cusa–Huygens' inequality, as follows:

$$\frac{\sin x}{x} > \frac{1 + \cos x}{2},\tag{9}$$

where $x \in (0, \pi/2)$. The following result, which follows easily from Theorem 1 and Bernoulli's inequality (6), is a refinement of (9).

Corollary 4. Let $x \in (0, \pi/2)$ and $\lambda \in [\lambda_0, 2]$, where $\lambda_0 \simeq 1.420330769$ is the root of the equation $\lambda/3 + (2/\pi)^{\lambda} - 1 = 0$. Then the following inequality holds

$$\frac{\sin x}{x} > \left(1 - \frac{\lambda}{3} + \frac{\lambda}{3}\cos x\right)^{1/\lambda} > \frac{1 + \cos x}{2}.$$

The inequality

$$\left(\frac{\sin x}{x}\right)^2 + \frac{\tan x}{x} > 2,$$

which holds for all $x \in (0, \pi/2)$, is known in the literature as WILKER's inequality (see [16], [18]). Recently, ZHU [23] gave a hyperbolic analogue of the Wilker inequality, as follows:

$$\left(\frac{\sinh x}{x}\right)^2 + \frac{\tanh x}{x} > 2,$$

where $x \neq 0$. The following result is a generalized and refined version of the above Wilker-type inequality.

Corollary 5. Let $x \neq 0$ and $p \geq 1$. Then the following inequality holds

$$\left(\frac{\sinh x}{x}\right)^{2p} + \left(\frac{\tanh x}{x}\right)^p > \left(\frac{x}{\sinh x}\right)^{2p} + \left(\frac{x}{\tanh x}\right)^p > 2.$$

PROOF. From the Lazarević inequality (2), we observe that

$$\left(\frac{x}{\sinh x}\right)^2 \frac{x}{\tanh x} = \cosh x \left(\frac{x}{\sinh x}\right)^3 < 1,$$

so that

$$\left(\frac{\sinh x}{x}\right)^{2p} + \left(\frac{\tanh x}{x}\right)^p > \left[\left(\frac{\sinh x}{x}\right)^{2p} + \left(\frac{\tanh x}{x}\right)^p\right] \left[\left(\frac{x}{\sinh x}\right)^2 \frac{x}{\tanh x}\right]^p$$
$$= \left(\frac{x}{\sinh x}\right)^{2p} + \left(\frac{x}{\tanh x}\right)^p.$$

On the other hand, putting $\lambda = 1$ in Theorem 2 gives

$$\cosh x > 3\left(\frac{\sinh x}{x}\right) - 2.$$

By using the power means inequality and the above inequalities, we have

$$\left(\frac{x}{\sinh x}\right)^{2p} + \left(\frac{x}{\tanh x}\right)^{p} \ge 2^{1-p} \left[\left(\frac{x}{\sinh x}\right)^{2} + \frac{x}{\tanh x}\right]^{p}$$
$$= 2^{1-p} \left[\left(\frac{x}{\sinh x}\right)^{2} + \left(\frac{x}{\sinh x}\right)\cosh x\right]^{p}$$
$$> 2^{1-p} \left[\left(\frac{x}{\sinh x}\right)^{2} + \left(\frac{x}{\sinh x}\right)\left(3\left(\frac{\sinh x}{x}\right) - 2\right)\right]^{p}$$
$$= 2^{1-p} \left[2 + \left(1 - \frac{x}{\sinh x}\right)^{2}\right]^{p} > 2,$$

which completes the proof.

In the same way, as above, one can prove the following generalized and refined version of the Wilker inequality.

Corollary 6. If
$$x \in (0, \pi/2)$$
 and $p \ge 1$, then

$$\left(\frac{\sin x}{x}\right)^{2p} + \left(\frac{\tan x}{x}\right)^p > \left(\frac{x}{\sin x}\right)^{2p} + \left(\frac{x}{\tan x}\right)^p > 2.$$

We note that new researches, which are concerned with the inequalities (8), (9), Wilker's inequality and its hyperbolic analogue, are in active progress. Readers can refer to the papers [2]–[4], [7], [22] and to the references therein. In [2], the second author extended the inequalities (8) and (9) to generalized Bessel functions of the first kind, while in [4], BARICZ and SÁNDOR extended the results from [20] to Bessel functions of the first kind. The paper [22] contains the full solution of OPPENHEIM, and generalizes the inequalities (8) and (9), while the paper [7] contains the extensions of the results from [22] to Bessel and modified Bessel functions of the first kind. Moreover, during the course of writing this paper we have found the paper of KLÉN et al. [9], where another improvements of the inequalities (8) and (9) were presented.

Finally, it is worth to mention that the right-hand side of the above inequality in Corollary 6 is actually a general form of [20, Lemma 3]. Moreover, we note that the inequality

$$\left(\frac{\sin x}{x}\right)^{2p} + \left(\frac{\tan x}{x}\right)^p > 2,$$

which holds for all $x \in (0, \pi/2)$ and $p \ge 1$, has been discussed in a more general setting by WU and SRIVASTAVA [20], and actually the above generalized Wilker inequality holds true for all p > 0 or $p \le -1$, conform [20, Theorem 1].

ACKNOWLEDGMENTS. The present investigation was supported, in part, by the Natural Science Foundation of Fujian province of China under grant No. S0850023 and, in part, by the Foundation of Scientific Research Project of Fujian Province Education Department of China under grant No. JA08231.

References

- G. D. ANDERSON, M. K. VAMANAMURTHY and M. VUORINEN, Monotonicity rules in calculus, *Amer. Math. Monthly* 113(9) (2006), 805–816.
- [2] Å. BARICZ, Some inequalities involving generalized Bessel functions, Math. Inequal. Appl. 10(4) (2007), 827–842.
- [3] A. BARICZ, Functional inequalities involving Bessel and modified Bessel functions of the first kind, *Expo. Math.* 26(3) (2008), 279–293.
- [4] Å. BARICZ and J. SÁNDOR, Extensions of the generalized Wilker inequality to Bessel functions, J. Math. Inequal. 2(3) (2008), 397–406.
- [5] A. BARICZ and S. WU, Sharp Jordan-type inequalities for Bessel functions, *Publ. Math. Debrecen* 74 (2009), 107–126.
- [6] Á. BARICZ and S. WU, Sharp exponential Redheffer-type inequalities for Bessel functions, Publ. Math. Debrecen 74 (2009), 257–278.
- [7] Á. BARICZ and L. ZHU, Extension of Oppenheim's problem to Bessel functions, J. Inequal. Appl. (2007), Article ID 82038, 7 pp.
- [8] P. S. BULLEN, A Dictionary of Inequalities, Pitman Monographs and Surveys in Pure and Applied Mathematics, Vol. 97, Addison Wesley Longman Limited, Longman, Harlow, 1998.
- [9] R. KLÉN, M. LEHTONEN and M. VUORINEN, On Jordan type inequalities for hyperbolic functions, Available online at http://arxiv.org/abs/0808.1493v1.
- [10] J.-C. KUANG, Applied Inequalities, Shandong Science and Technology Press, Jinan, China, third edition, 2004.
- [11] D. S. MITRINOVIĆ and D. D. ADAMOVIĆ, Sur une inégalité élémentaire où interviennent des fonctions trigonométriques, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. 143–155 (1965), 23–34.
- [12] D. S. MITRINOVIĆ and P. M. VASIĆ, Analytic Inequalities, Springer-Verlag, New York, 1970.
- [13] I. PINELIS, On L'Hospital-type rules for monotonicity, J. Inequal. Pure Appl. Math. 7(2) (2006), Article 40. (electronic).
- [14] F. QI, L.-H. CUI and S.-L. XU, Some inequalities constructed by Tchebysheff's integral inequality, Math. Inequal. Appl. 2(4) (1999), 517–528.
- [15] F. QI and D. W. NIU, Refinements, generalizations and applications of Jordan's inequality and related problems, *RGMIA Res. Rep. Coll.* 11(2) (2008), Article 9. (electronic).

- 458 S. Wu et al. : Generalizations of Mitrinović, Adamović and Lazarević's...
- [16] J. S. SUMNER, A. A. JAGERS, M. VOWE and J. ANGLESIO, Inequalities involving trigonometric functions, Amer. Math. Monthly 98 (1991), 264–267.
- [17] J. SÁNDOR and M. BENCZE, On Huygens' trigonometric inequality, RGMIA Res. Rep. Coll. 8(3) (2005), Article 14. (electronic).
- [18] J. B. WILKER, Problem E3306, Amer. Math. Monthly 96 (1989), 55.
- [19] S. WU, On extension and refinement of Wilker's inequality, Rocky Mountains J. Math. 39(2) (2009), 683–687.
- [20] S.-H. WU and H. M. SRIVASTAVA, A weighted and exponential generalization of Wilker's inequality and its applications, *Integral Transform. Spec. Funct.* 18(8) (2007), 529–535.
- [21] S.-H. WU and H. M. SRIVASTAVA, A further refinement of Wilker's inequality, Integral Transform. Spec. Funct. 19(10) (2008), 757–765.
- [22] L. Zhu, A solution of a problem of Oppeheim, Math. Inequal. Appl. 10(1) (2007), 57–61.
- [23] L. ZHU, On Wilker-type inequalities, Math. Inequal. Appl. 10(4) (2007), 727-731.

SHANHE WU DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE LONGYAN UNIVERSITY LONGYAN, FUJIAN 364000 PEOPLE'S REPUBLIC OF CHINA

E-mail: wushanhe@yahoo.com.cn

ÁRPÁD BARICZ DEPARTMENT OF ECONOMICS BABEŞ-BOLYAI UNIVERSITY CLUJ-NAPOCA 400591 ROMANIA

E-mail: bariczocsi@yahoo.com

(Received January 23, 2009; revised June 22, 2009)